CSCI 3130 - Microcode 16 bit RSC:


t0: AR(PC,


t1: IR(M, PC(PC+1, AR(AR+1 

HALT
d0_t2: S(1 

OUT
d01_t2: OUTR(ACC

JUMP
d02_t2: PC(M 

JMPZ
* if z=1 


z*d03_t2: PC(M 


* if z=0 


z’d03_t2: PC(PC + 1 

CLACC
d04_t2: ACC(0 

INACC
d05_t2: ACC(ACC+1 

STACC
d06_t2: AR(M, PC(PC+1


d06_t3: M(ACC 

MVACC
d07_t2: R(ACC
NOT
d08_t2: ACC(ACC’

AND
d09_t2: ACC(ACC AND R

OR
d10_t2: ACC(ACC OR R

XOR
d11_t2: ACC(ACC XOR R

SUB
d12_t2: ACC(ACC-R 

ADD
d13_t2: ACC(ACC + R 

LDACC
d14_t2: AR(M, PC(PC+1


d14_t3: ACC(M 

MOVR
d15_t2: ACC(R

d00 = HALT

d01 = Output

d02 = Jump

d03 = Jump if Z = 1

d04 = Clear ACC

d05 = Increment ACC

d06 = Store ACC

d07 = Move ACC to R

d08 = NOT ACC

d09 = ACC AND R

d10 = ACC OR R

d11 = ACC XOR R

d12 = SUB ACC and R (ACC - R)

d13 = ADD ACC and R

d14 = Load ACC

d15 = Move R to ACC

